Unit 3: Trigonometry Solving Sine and Cosine: March 5

Solving Sinusoidal Functions (Intro) \ )

KNOW DO UNDERSTAND \/
t 1-to-1 so th&lomain must

There are multiple Can find the solutions to a Inverse:
solutions to a trig trig equation in a given Sine and cosi j
equation. domain. be restricted. Restrie e ;,«4/, they take
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So, when we ask: if cos @ = 0.8 or if sin¢ = 0.8 orif tan 8, then what is 9, 4>Zand [? We have the same

problem. ‘}MP:’O"Z ox‘:\“\ é%y\ € =D,‘&)

(os'\ (},ose.—.o,ig oresn» V\e-,—o&)
B=arccin0 £ = arettn 0.8

=0.6%

©= cos (0 4)
=0.bY or -0.8{ B8=043 a2
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o —D.LY+2Tn or 2.2 x2mh

When we use the inverse we are only finding one solution. Recognize that there will almost always be a
second solution (sometimes three other solutions if we can be positive or negative)













































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































































Unit 3: Trigonometry Solving Sine and Cosine: March 5

Example: Solve for x 4/
4 sin® E(x—l))=1 1

QZ/NJ qg'“ e = '

O —

-+l
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= O=+% 5T
“b "G
+
e = tIé; + LTIN of 'iTgr")_‘”\

Tix-N= 2T c2mm  or T (x-1) 22T «2un
2 & G

XK= 115 t2wn o X= |ti_;n_m nel

Example: Solve for x

tan? (2 (x + %)) = 5tan (2 (x + %))
tn 9 -5t =0 = +a0 (4eng -5)=0
+on® =0 oy 4on0 =9

> =0 +T  or =133 +wn ,ne L

2 (xto 3 =7tn  of Z(ng\ = .39 +7N

“"33-‘—*“ n or x=-030b *37:‘_V| he7Z_

Vi

Practice Problems: 4.4 page 211 — 213 Examples #1-3, Questions # 3-5, 7
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y =sinx Yy = COSX

-2t -31/2 -T /2 2T -2m ~3TrK-:T -2 0 W L /2 2T
2 2
3 3
-4 | -4
f y=cscx — y = secx
= -_— ¢ =
00 T w N 7n
N ..F 73

U2 21 2m 32 - /—le 0 me T §W2 2m

i o = 1
a/ \ ’
217 -31/2 -1 -T2 T2 T 32 ST =27 - -Tr -TT 0 2 T 31/ ™

=

€ T=7 # Y e | T=1r
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